~9%

A g4 X EEHh | IR AR (RITEM fii4& ES
= g DAY 62 5 5kg i kg | 1,000 i
=g AN = 4] 5kg 5= kg 950 =i
= g DAY 8E LEdon) 5kg i kg 900 i
=g AN 102 FE 5kg 5= kg 850 EiE
7Y 8/9% GEdon) 5kg 78 kg | 1,700
7Y 7/9kg == 1A i kg | 1,350 EiE
T 8/9kg =E 1A e kg | 1,350 EiE
Y 7/8kg EEdil 1A & kg | 1,350 EiE
hyA 4kg = I 1A e kg | 2,000 # AIRE
hu# 5kg ERSE 1A & kg | 1,950 # AIRE
hyA 6kg = I 1A = kg | 1,750 # AIRE
+BfR 4E FE dkgE 8 kg | 3,800 T
£ B 5E FE 45kgUP e kg | 3,300 BF i
24 2/3E 'BH 2/3kg i kg | 1,800 EiE
<4 3E R 3kgH i kg | 2,300 EE
M7 102 FEE P P | 1,500
HELIR IR 100g P P 550
ERZILAH 218 El P P | 1,300
RAIKRZILAH EL 330g P P | 1,800
RAIVRZILAH EE 300g P P | 1,100
LL& BEiR 1kg P kg | 1,400 7B
INIT) 60/80g FE 1kgBifi kg kg | 2,300
ry*H #9300g dtiEE 1 kg | 1,900
HILE 400/500g 5 & kg | 2,600
Em75 20/30g dtimE & kg | 2,300
yJH 20/40g dtiEE & kg | 2,000
BEN(E 30/50g FE & ke | 1,900




